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<cstdio>
int main() {
int N, 1; scanf ("%d%d

(N i & 1) printf("OK\n");
printf (”"NG\n");
9;
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11 mod_pow(int n, int k, int p) {

11 ret = 1, mul = n;
(int 1i=0; i1<31; i++) {

(k 1 1) ret (ret * mul)
mul (mul = mul) % p;

ret;

}

int main() {
int N, k; scanf("%d%d", &N, &k);
printf("%11d\n", mod_pow(N, k, MOD));
9;
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http://judge.u-aizu.ac.jp/onlinejudge/description.jsp?id=NTL_1_B&lang=jp
https://yukicoder.me/problems/no/16
http://arc051.contest.atcoder.jp/tasks/arc051_c
https://yukicoder.me/problems/no/403
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= mrmpn T = 4= 5 =
template <typename T>

Matrix = vector< vector<T> >;

template <typename T>
void init_mat({Matrix<T> ZA, int h, int w) {
A.resize(h, vector<T>(w, @));

}

.:.-.:..:.{ -..:.:..:.T}
Matrix<T> calc _mat(Matrix<T> A, Matrix<T> B) {
Matrix<T> C(A.size(), vector<T>(B[@].size()));
(int i=0; i<A.size(); i++) {
(int k=0; k<B.size(); k++) {
(int j=@; j<B[0].size(); j++) {

CLiI031 = (CLil[3] + ACilCkI » BLkILjI1) * MOD;

template <typename T>
Matrix<T> mat_pow(Matrix<T> A, 11 n) {
Matrix<T> B(A.size(), vector<T>(A.size())):
(int i-0; i<A.size(); i++) B[i][i]
(n>8){
(n ) B = calc_mat(B, A);
A = calc_mat(A, A):

. HCPC fERe TEDEL 2 % (ArFUE) | 2017 /9 / 26




e Blocks (POJ No. 3734)
e Matrix Power Series (POJ No. 3233)
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https://community.topcoder.com/stat?c=problem_statement&pm=14463
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e LCA: Lowest Common Ancestor (AOJ GRL 5 C)
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http://judge.u-aizu.ac.jp/onlinejudge/description.jsp?id=GRL_5_C&lang=jp
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